BK S:t Erik
Fredagsgodis 2022-08-19

Partavling, 8 bord, 16 par. Antal brickor: 21. Medel: 147.0.

Plac Par Poang % Namn MID Klubb
1 10 175 59.52  Elisabeth Ahlstrém - Marianne Sundeman 64005 59681 BK S:t Erik
2 5 173 58.84  Bo Magnusson - Goran Witt-Stromer 200570 62057 BK S:tErik
3 6 167 56.80 Anders Eriksson - Anders Lundgren 83070 68322 BK S:t Erik
4 12 159 54.08 Barbro Ehn - Ann Ryberg _ 44360 44358 BK S:t Erik
5 11 158 53.74  Margit Belenius - Monica Ohnell 93605 53849 IK Makkabi - BK S:t Erik
6 8 157 53.40 Gunnel Barkeby - Lars Harry Andersson 49513 66296 BK S:t Erik
7 1 151 51.36  Benkt Lundgren - Bernt Lundberg 65502 57673 BK S:t Erik
8 13 149 50.68 Viveka Edenbéack - Ronny Lager 57678 57679 BK S:tErik
9 2 145 49.32  Gunnar Kihlblom - Gunvor Westerberg 200382 29792 BK S:t Erik
9 16 145 49.32  Dag Bjerke - Torbjorn Holking 56670 61848 BK S:t Erik
11 15 144 48.98 ola Ronngardh - Barbro Larshagen - 80852 BK S:tErik
12 3 140 47.62  Agneta Gisle - Peter Gisle 39145 39076 BK S:tErik
13 9 135 45.92  Lena Stenborg - Madeleine Gabrielson 79828 65794 BK S:t Erik
14 7 124 42.18  Lars Kronvall - Kristina Sjélund Granfalk 38733 38782 BK S:tErik
15 4 119 40.48 Marie Friedman - Bernt Ericsson 38247 55445 BK S:t Erik
16 14 111 37.76  Ann-Charlotte Cedervall - Ingrid Laurell 63918 56414 BK S:t Erik
1 4 E9 2 463 3 & EK7
Nord v Kn105 Ost v 109 Syd vE3
Ingen ¢+ Kn4 NS ¢ 7532 ov + KKn842
#E109543 #Kn10963 #Kn85
4 Kn8654 & K1032 4 KD10975 & EKn42 4 D105 4982
v74 v EK82 vEKKNn743 v65 vDKn10964 v K752
+ KD85 92 +9 + EDKn64 410963 ¢ E75
K7 «D82 »- ®- «KD4
D7 48 4 Kn643
v D963 v D82 v8
+ E10763 + K108 +D
#Kn6é #EKD872 #E1097632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 1 34V= +J -140 120 2.0|13 14 5#S-3 +9 -300 140 00| 7 5 54DS= ¢Q 550 13.0 1.0
10 12 24 V+1 *3 -140 120 20| 4 3 44 O+3 #A -510 90 50(|10 12 54DS= vQ 550 13.0 1.0
15 11 24 V+1 *A -140 120 20| 6 2 44 V+3 *3 -510 90 50| 6 2 3NN+2 &3 460 10.0 4.0
4 3 24 V+2 SA -170 6.0 80| 8 1 44V+3 LX) -510 90 50| 8 1 3NN= v5 400 8.0 6.0
9 16 34 O+1 &J -170 6.0 8.0|15 11 44 V+3 v9 -510 90 50| 9 16 4v V-2 a A 200 6.0 8.0
13 14 34 V+1 *J -170 6.0 80| 7 5 64 V+1 *] -1010 20 12.0(15 11 4v V-1 *5 100 4.0 10.0
6 2 4e V= +J -420 10 13.0| 9 16 64 O+1 &A -1010 2.0 12.0|13 14 3NN-1 v5 -50 2.0 12.0
7 5 44 V= +J -420 1.0 13.0(10 12 64 V+1 3 -1010 20 120| 4 3 3NN-2 v5 -100 0.0 14.0
4 4 D6 5 «E64 6 475
Vast v EKn642 Nord v K10752 Ost v EDKn73
Alla + 1084 NS ¢ Kn5 ov ¢+ D642
#Kn107 #ED8 2K9
4 Kn974 & K105 4952 #1083 « EK1086 & Kn92
v 105 v K93 vE8 v52 v 10986
4976 + D532 ¢9876 ¢ ED10432 + K8 ¢+ E109
#8654 #E32 #Kn964 #10532 #10652 #D84
« E832 « KDKn7 « D43
v D87 v DKn9643 vK4
¢ EKKn +K ¢ Kn753
#KD9 K7 &#EKNn73
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 6 3NS+2 +6 660 120 20|10 16 4y N+2 3 680 140 0.0|10 16 3NS= oA 400 140 0.0
8 2 3NN+2 ¢2 660 120 20| 1 6 4v N+1 ¢A 650 70 7.0|14 15 34 V-2 &K 200 120 2.0
11 13 3NS+2 +6 660 120 20| 5 4 4y N+1 +A 650 70 70| 5 4 2NS+2 aA 180 10.0 4.0
7 3 2NS+2 +6 180 80 6.0 7 3 4y N+1 A 650 70 7.0|11 13 INS+2 s A 150 8.0 6.0
5 4 14 S+2 +9 140 6.0 80| 8 2 5vN= ¢A 650 70 7.0| 8 2 2y N+1 &2 140 6.0 8.0
10 16 2NN = +3 120 40 100| 9 12 4y N+1 +A 650 70 70| 7 3 2vN= a2 110 4.0 10.0
9 12 14 S+1 +6 110 1.0 13.0(11 13 4v N+1 43 650 70 7.0 9 12 24 V= *9 -110 2.0 120
14 15 14 S+1 6 110 10 13.0(14 15 2¢ N+3 +A 200 0.0 140| 1 6 3NS-3 aA -150 0.0 14.0
7 432 8 « K974 9 « EK743
Syd vKnl0 Vast v EKn63 Nord v 654
Alla + D10765 Ingen ¢+ E94 ov + D863
#D543 +D9 +10
4 DKn5 4 E10764 4 DKn1085 «E6 4D985 4Kn
v98 vED764 v8 v 10542 vD72 v83
¢ EK4 + Kn92 4752 + KD63 ¢E72 1054
#E10987 #- #EK83 #1064 #Kn32 &KD98764
4 K98 32 #1062
v K532 vKD97 v EKKn109
+83 + Kn108 ¢ KKn9
&#KKn62 &#Kn752 &E5
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 9 3NV-2 +5 200 140 00| 2 7 2¢vN= s A 110 13.0 1.0(11 16 4v S+1 *2 450 13.0 1.0
10 13 4v O-1 +8 100 120 2.0|10 13 2v S= *A 110 13.0 1.0(12 14 4v S+1 *] 450 13.0 1.0
12 14 1INV +1 ¢5 -120 100 40| 6 5 44 V-1 *Q 50 90 50| 1 4 4vS= *2 420 8.0 6.0
1 4 340+1 3 -170 80 6.0 8 3 2NO-1 vK 50 90 50| 8 3 4vS= L)) 420 8.0 6.0
2 7 44 0= v5 -620 50 90| 1 4 3vyN-2 oA -100 4.0 10.0|10 13 4v S= *2 420 8.0 6.0
11 16 44 O= v2 -620 50 9.0|12 14 4v S-2 *3 -100 40 100 6 5 3v S+l *] 170 3.0 11.0
6 5 464 0+1 ¢8 -650 10 130(15 9 4v N-2 +K -100 40 100|15 9 3v S+l 48 170 3.0 11.0
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8 3 44 0+1 &2 -650 1.0 13011 16 24 V+1 #Q -140 0.0 140| 2 7 3vS= &2 140 0.0 14.0
10 4632 11 «D4 12 4 E32
Ost v 63 Syd v DKn8762 Vast vED7
Alla + EK76 Ingen 4532 NS + Kn109874
#E986 *K2 3
+ EKn4 + 109 47532 #E9 « 87 « KKn6
vD109 v Kn8 v1054 vE93 v10854 vK96
2 ¢ DKn108543 ¢Kn76 ¢E98 462 ¢ KD5
#KDKn742 #105 #E87 #DKn654 #EKD86 #Kn975
« KD875 4 KKn1086 « D10954
v EK7542 vK vKn32
+9 ¢+ KD104 ¢E3
3 #1093 #1042
Par  Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
3 1 44 S= *2 620 11.0 3.0|11 14 3vy N= *Q 140 140 0.0]13 15 2¢ N+1 5 110 14.0 0.0
8 4 4v S= &K 620 110 30| 8 4 2NS= a2 120 120 20|12 16 3NO-1 ¢ A 50 120 2.0
11 14 4v S= &2 620 110 3.0| 9 10 24 S= v4 110 100 40| 3 1 3¢N-1 46 -100 10.0 4.0
12 16 4v S= +3 620 11.0 30| 2 5 3#0-1 oT 50 70 70| 7 6 3+0= *A -110 6.0 8.0
13 15 4+ V-3 v6 300 6.0 80[12 16 2NO-1 oT 50 70 70| 8 4 340= ¢A -110 6.0 8.0
7 6 3vS+2 ¢2 200 40 100| 7 6 34S-1 *A 50 4.0 100| 9 10 24 O+1 5 -110 6.0 8.0
2 5 24 S+2 &K 170 10 130 3 1 3NN-2 *Q -100 20 12.0(11 14 28V +2 a2 -130 20 120
9 10 2v S+2 ¢2 170 1.0 13.0(13 15 44 S-3 »7 -150 0.0 140| 2 5 3NO= a4 -400 0.0 14.0
13 « EKD102 14 98 15 «E1074
Nord vD5 Ost vE73 Syd vD3
Alla ¢ EKn9743 Ingen ¢ KDKn43 NS ¢ 109853
*- #E102 #93
4Kn76 #9543 aKD7  #E1064 4 Kn96 4 K832
v98632 vKn7 v1086 v2 v10642 vKn8
+ 86 + D5 ¢ 109 ¢ E8652 ¢ED ¢ Kn7642
#DKn6 #EK972 #K7543 #D86 #KKn106 #D8
8 & Kn532 «D5
v EK104 v KDKn954 v EK975
¢ K102 ¢7 *K
108543 #Kn9 #E7542
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
8 5 5¢DN+2 #A 1150 140 00| 1 7 4vyS= 4K 420 120 20|13 16 2&# V-1 +3 50 140 0.0
3 6 3NS+4 v3 720 120 2.0|12 15 4v S= *T 420 120 20| 8 5 2¢vS-1 46 -100 120 2.0
1 7 5¢ N+2  #A 640 9.0 5.0(13 16 4v S= 4K 420 120 20| 3 6 3vS-2 &T -200 80 6.0
13 16 5¢ N+2  #A 640 90 50(14 9 3vS-= 3 140 80 6.0[10 11 24#S-2 *A -200 80 6.0
14 9 14 N+5  #A 230 6.0 8.0(10 11 2v S= *T 110 6.0 8.0|12 15 3vS-2 &T -200 8.0 6.0
4 2 4¢ N+3  #A 190 30 11.0| 3 6 4vS-1 *4 -50 30 110 1 7 4vS-3 ¢A -300 20 12.0
12 15 2¢ N+5 &K 190 30 11.0| 8 5 4vS-1 *T -50 30 110 4 2 4vS-3 &T -300 20 12.0
10 11 24 N+1  #A 140 0.0 140| 4 2 4vS-2 &5 -100 0.0 14.0|14 9 4vS-3 46 -300 20 120
16 « EK63 17 «E9 18 a K4
Vast v KDKn965 Nord v D43 Ost v Kn9432
ov +D5 Ingen ¢ Kn96532 NS +D4
&7 #105 #D1095
4Kn742 4 D985 # 10752 & KKn863 4D109 472
vE103 v72 vEKn1085 vK2 v E86 v 1075
+9 + E873 ¢- ¢+ ED874 +Kn982 ¢ ES3
#ED1085 #KKn3 #EKKn8 %6 #Kn84  #K7632
+10 «D4  EKNn8653
v 84 v 976 vKD
¢ KKn10642 ¢ K10 + K1076
#9642 #D97432 *E
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 7 29 N+2  +A 170 120 20| 5 3 640-1 3 50 140 00| 5 3 4e4S= +8 620 130 1.0
5 3 3y N+1 43 170 120 20| 4 7 44 0O+1 v7 -450 80 6.0[11 12 44 S= *4 620 130 1.0
13 9 2vy N+2 43 170 120 20|11 12 44 O+1 #4 -450 80 6.0| 2 1 24S+1 &4 140 8.0 6.0
2 1 1y N+2 o7 140 80 6.0{13 9 44 0+1 6 -450 80 6.0 4 7 24S+1 +8 140 80 6.0
15 10 3« V-1 43 100 6.0 80|14 16 44 O+1 &2 -450 80 6.0[15 10 24 S+1 ¢2 140 80 6.0
11 12 3v N-2 +K -100 3.0 11.0(15 10 44 O+1 &7 -450 80 60| 8 6 44S-1 +8 -100 3.0 11.0
14 16 4v N-2 3 -100 30 11.0] 2 1 44 0+2 T -480 20 12.0|14 16 44 S-1 v6 -100 3.0 11.0
8 6 24 0+1 v8 -140 0.0 140| 8 6 64 O= *T -980 0.0 14013 9 44S-2 *J -200 0.0 14.0
19 «KD743 20 4 Kn3 21 aKn
Syd vED932 Vast vKD103 Nord vKn73
oV +10 Alla ¢ DKn952 NS ¢ D10865
+K8 #43 #DKn109
8 «E106 «E9876 «KD1054 # 985 « E643
v 108 v KKn764 vE9 v 64 vED104 v8652
¢ K872 ¢ E65 + K76 +E1043 ¢E3 *72
#ED10753 #96 #ED5 #1109 #K876 %543
& Kn952 a2 « KD1072
v5 v Kn8752 vK9
¢ DKn943 +8 ¢ KKn94
#Kn42 #KKn8762 &E2
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
16 15 44 N= *9 420 140 00| 3 2 440-1 +8 100 140 00|16 15 2NN+1 8 150 140 0.0
6 4 34N+1 96 170 120 20| 8 7 4eV+l 2 -650 80 6.0 6 4 4¢ S= ¢ A 130 120 2.0
9 11 34 N= v7 140 100 40| 9 11 44 V+1l ¢K -650 80 6.0 8 7 INN+1 v8 120 10.0 4.0
8 7 24 N= *9 110 6.0 8.0(12 13 44 V+1 vK -650 80 60| 5 1 2¢S+1 ©vA 110 70 7.0
12 13 24 N= *9 110 6.0 8.0(14 10 44 V+1 vK -650 80 6.0 9 11 3¢ S= v4 110 70 7.0
14 10 14 N+1 v4 110 6.0 80(16 15 44 V+1 vK -650 80 6.0[14 10 2¢ S= *8 90 4.0 10.0
3 2 34N-1 +6 -50 10 130 5 1 4e4V+2 ¢Q -680 10 130 3 2 2vV+1l 4] -140 20 12.0
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5 1 44 N-1 *9 -50 10 13.0| 6 4 44 V+2 *4 -680 10 13.0|12 13 3NN-2 v5 -200 0.0 14.0
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